
UK-ST210706

CS5016PS
NO.
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

NO.

31
32
33
34
35
36
37
38

46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76

DESCRIPTION
Tapping screw
Tapping screw
Lock knob
Pab head screw 
small washer 
Spring washer 
Capacitor
Lock wheel
Carbon brushes
Bush
Brush holder
Trigger
Switch
Spring 
Push lever
Housing
Bush sleeve
Bearing 607 RS
Rotor
Pan head  tapping screw
Insulation plate of stator
Stator
Insulation end-plate
Wind guard
Fan
Tapping screw
Brush holder cap
Cord pressure plate
Cord guard
Depth lock pin
Torque spring
Torque spring
Bolt 
Fixed position plate
Lock knob
Indicator
Depth scaler 
Indicator base
Bolt
Bolt 
Lock plate
Spring of lock plate
Tapping screw

Blade guard
Gear box cover

Ball bearing 6001-2RS
Circlip for shaft 28
Tappping screw
Blade base
Saw blade
Flange
Bolt
Blade guard cover
Tapping screw
Spindle lock button
Spring 
Bearing 6000  RS
Gear box
Bush
Big gear
Spindle
Bevel indicator
Bolt 
Spring base
Bolt
Turn shaft
Bolt
Washer
Tapping screw 
Bolt
bracket (front)
Bolt
Washer
Spring washer
Bracket (rear)
Washer
Lock knob
Bolt
Washer
Wave washer
Small washer
Adjustable knob
Base plate
Dust tube
Rear cover
Lift spring
Spindle lock sleeve
Dust tube adaptor
Cable

DESCRIPTIONSPEC.
ST4.1x16-F
ST4.1x32-F

M5x45
Ø5
Ø5

7x19x6

ST4.1x65-F

ST2.9x10-F

M5x20

M6×33

M5x12

ST4.1x12-F

SPEC.
40x17x12

M5×12

M8x20

M4×12

8x22x7

M4x6

M6×22

 M6×12

ST3.5x9-F
M6×6

M6×20

M5x12

39
40
41
42
43
44

77
78
79
80
81
82
83
84
85
86
87
88

45
89


